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TEST PAPER F

(¢) Given that (x + 2) is a factor of f(x) = x3 - 3x2 - éx + 8, fully factorise f(x).

(b) State the coordinates of the points where f(x) meets the axes.
(To show that (x + 2) is a factor of f(x) show that f(-2) = 0 and factorise the functicn fully.)

(@) A is the point (1,-2,4), B is the point (-2, 4, 1). P divides AB in the ratio 2 : 1. Find the coordinates
of P.

(b) State the ratio AP : BP.
The vertices of a triangle are L(2, 4), M(~1, -2) and N(3, 7). Find the equation of the altitude LQ.

(a) Find the coordinates of the centre and the length of the radius of the circle with equation

¥

¥2492-6x+8y+9=0.

(b) Find the equation of this circle after reflection in the x-axis.

V3

Stationary values of the function 4x + mx occur when x =+ 2

(a} Find the value of m.

(b) State f(x) and find f(=2).

Finrj the value of (2 n = 5«[2-] 2,

5 Do -
If o f) = SRS Gy e,

)= x3-5x2-x+4d. If f(x) is divisible by (x + 1), find £ and fully factorise the function.



10.

(@) T uy 4y =mu,+ ¢ and ug=3,u,=zandu2=4,ﬁndmandcandssatemerelaﬁonshipinthcfom
Uy 4 | =My + C. : i

(b) Find uz and u_;.

(c) Find a value for u, such that u, . 1 = Uy.
(a) Find the value of p if f(x) = 2x2 + 6x + p has equal roots.

(b) State the coordinates of this root. ‘ .

(c) Make a rough sketch of the curve showing c]earl}.r where f(x) meets the axes.

e jm‘Z )
Evaluate Tstuwca{;n:.

Solve4sin2x—2=0; 0 <x < 360.



